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— solufion
1
1. ATQ, ! 5,9 g3 x=3_ 05
60 60 27 © ! x 20 4
x+y x-y 2 7 i Speed of stream = 1 x 0.75
5 4 i =0.75 km/hr
Xty x-y 1 7. ATQ
1
5 - by= 4x + 4y | Speed of current y =4km/h
i Distance =12 km
X = 9y i Speed in upstream
| = (x —y) km/hr
Put this in equatlorgél) 60 27 i Speed in upstream = (x —y) km/hr
—t— = i Here ‘¢’ is speed of boat in still water
10y 8y 2 i Dis tan ce
27 27 i S p e e d =22
or —y=—ory=1km/r i Time
2 2 i
1
. (@ ; 412
3. (a) i 5
Given. i 5x —20 =12
Speed of boat down stream = 15 km/h i 5x =32
- ! x =6.4 km/hr
Speed of boat current = 3 km/h :
Speed of boat in still water = 12km/h : Speed in dowstream = (x + y) =6.4 + 4 =10.4 km/h
A | . Dis tan ce
time taken at upstream : Time = — """~
15 ! Speed
T12-3 i Time = 12 _ 190
15 . i 104 104
=—h=1h 40 min ! 7
9 ! =1hrs 26 — min
time takenatdownstream ! 13
15 1h 18 (b
= = 1
12+3 1'9. Upstream speed, U
total time = 2h 40 min i _ lkm =6km/hr
5. Ifflows at 4 km/h i 10 hr
So in 15 minutes it travels — 1 km | 60
1
So vol. of water entering the sea in 15 minutes ! Downstream speed, D 1km
8 x 4 x 1000 i =3 =15km/hr
= 32000 m3 | a0 T
LSRN0 S B ] 1 _
6. Let speed of man and str;am is Z, U ! Speed of the stream, y - U
The =—— i
ViU V-U | _15-6 9 _ 4 5w/
(Travelling distance in same time) ! 2 2
5V - 5U = 4V + 4U i 10. Speed of Downstream, D =12 km/h
' Speed of Upstream, U =8 km/h
9 1
V=%u= 5 =7 i Speed of boat in still water = D ; v = % =10 km/h.
1
Let u = X, v = 9x i Time taken by the boat in still water
i __24km o 4
ﬁ[hl)zﬁ i 0km/hr
265 4 2 i 11. Speed of stream, y =3 km/h
1
1

Speed of man in still water, x = 5 km/h
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2 BANK TEST 6

Downstream speed, D =8 km/h x+5=15

Downstream time = Dis tan ce _26 x =10 km/h

Downstream speed 8 Upstream speed, U
:E:SLhrs. =x-y=10-5
4 4 =5km/h
12. Speed of boy in stil water x =10 km/h . Dis tan ce
Upstream time=———————
Speed of current, y=5km/h Upstream speed
Distance =60 km. _ 1_55 — 3hrs.

..Downstream time = % =4 hrs.
Option (d) is the answer.
Upstream speed = 5 km/h
Upstream time = % =12 hrs.

13. Speed of boat in still water, x = 5 km/h

Speed of stream y =3 km/h
Distance Distance

AT + =3 hrs
Q 8 2
On solving, Distance = 4 .8 km.
Alternate :
T= gx Dz
X -y
3x16 =10 xD
D =4 .8km.

14. Let the speed of boat in still water = x km/h.
The speed of current, y =5 km/h
Downstream speed = 15 km/h
Downstream speed = 15 km/h

15.

12 12
+
xX+y x-y
Speed of the current, y =3 km/h
12 12
+ — =
x+3 x-3

In such type of question take help from the options to save

=3

your valueable time.

Take option (b) x =9
15 +£:E+B:1+2:3
9+3 9-3 12 6

~.Option (b) is the answer

Alternate :
2xD

2xx x12
ST
3(x2-9) = 24x
x2 -9 =8«
x2-8x-9=0
x=9,-1
x =9 km/hr.

T =

WWW.Guptaclasses.com  All the Best

by : Alok Gupta Sir & Ritu Gupta Mam



